19 : 107524 FEREHR B S FrBaaRft HE

= fr B H

s _ E pra=4
AT st | | 5 i oL | e
ML | ESEE | TS i

PRIE
&act 10372 262 196/ 3727| 2131 2946 1110
BB 1259| 48/ 196| 584 143 243 45
HRE SR A 191 5 75 77 0 33 1
ANEIRE SCEE 2 378 1 106 221 24 20 6
FESRER 2 87 12 0 36 12 23 4
TEZ 63 7 0 34 0 20 2
NIE £ 62 1 0 24 20 13 4
B E & EE L 102 3 0 34 21 25 19
HAGE S A 146 0 15 119 0 12 0
BREIEE 2 64 4 0 39 8 12 1
il SE BT RT 14 2 0 0 11 1
=t I 21 1 0 2 16 2
AR ST R 17 7 0 0 4 4 2
=BT 19 5 0 0 0 11 3
HERE R B ER AR 61 0 0 0 46 15 0
e et A=Y 34 0 0 0 6 28 0
FHERfE 970, 51 0 287 2100 262 160
L IEF 57 1 0 17 37 1 1
YRR 2 151 27 0 34 11 40 39
B2 A 314 0 95 22 109 79
HERHEE £ 90 1 0 49 31 5 4
JOMEER 2y 115 0 42 33 23 9
PRI R RS 2 64 1 0 29 23 7 4
RAFE A 51 2 0 21 5 18 5
RS 68 2 0 0 32 28 6
RCYERR ST 17 0 0 0 1 11 5
JTE FH R BRI T Pl 13 0 0 0 0 9 4
JTE FHES R R 95 Rl 10 0 0 0 9 1 0
AR A S R B 20 0 0 0 6 10 4
a1 442 27 0 181 8l 131 22
PBUEEE £ 155 2 0 107 21 20 5




19 : 10724 E FERIR BRI HE (8 —)

= fr B H

s o = e
e ol ol el e pki oL | e
SR | A é i

PRIE
LR 2 114 13 0 36 26 38 1
A 46 4 0 17 8 12 5
HETIEE L 39 0 0 21 5 7 6
B %2 5% et 95 Bl 57 7 0 0 15 30 5
WLt FT AT 22 1 0 0 3 18 0
INFLETEH TR 9 0 0 0 3 6 0
BEEhT 1257 8 0 412 210, 466 161
BEEE 2 107 0 0 106 1 0 0
FEEZ 63 0 0 62 1 0 0
SEEE 24 160 0 0 39 57 42 22
R RN 59 0 0 41 6 4 8
SETHES 20 71 0 0 30 4 24 13
VI EREE 2 125 2 0 68 8 30 17
BREE B A 106 4 0 47 7 34 14
B 1%iEH 6 0 0 6 0 0 0
B2 AL B )\ A fi A BB AL E] SR 12 0 0 3 9 0 0
EE R B EE ST AT 34 0 0 7 19 8
B PR S B 2R SR By 98 0 0 0 2 87 9
AP EARTSE BT 12 0 0 0 5 4 3
EVNEES S TEYERTE | 35 0 0 0 30 3 2
SEPHERRITT P 22 1 0 0 8 9 4
SR B EL BT SR FiT 24 0 0 0 8 11 5
A EER ST A 52 0 0 0 17 27 8
FRTIES AR EER TR | 11 0 0 0 0 7 4
HFHEET AT 17 1 0 0 2 7 7
TS 22 0 0 0 1 15 6
T EAT IR Bl 23 0 0 0 2 19 2
IR VIR SE Rl 17 0 0 0 12 5
BEREEELT T AT 28 0 0 16 9 3
TEBEEERHIT R 30 0 0 10 0 20 0
MR B 2R ST T 12 0 0 0 4 1 7




19 : 107824 PRI B L AnBEsR HEL ()

= M F H

v aorhy _ pra=4
S wit | B0 | D0 | mm i oL | e
BAE | R | TSN | e

ERIE
RSB VB LB SR 11 0 0 0 0 11 0
AENEEEOREEEAT 38 0 0 0 15 15 8
HECE L Sl - ER (T ER AR 6 0 0 0 0 0 6
BERESABmEMIH 10 0 0 0 10 0
B ES M BIR E RH SR 16 0 0 0 16 0
IS = o A L S S 30 0 0 0 0 30 0
TEp 1152 4 0f 288 274 438 148
TARTHEEZ 176 0 0 77 38 50 11
bR THEEE & 258 2 0 64 82 79 31
EETHEE A 212 0 0 85 26 76 25
TAERMER FOBE TR A 122 1 0 26 56 28 11
PRI B T R 22 2 127 0 0 19 49 36 23
BLEE TR A 63 0 0 14 2 32 15
IR TARER R 25 0 0 0 1 20 4
[ S 2R E A 58 1 0 0 3 52 2
RSB ST T 27 0 0 2 4 20 1
T TAEEH5ERT 32 0 0 1 7 16 8
= TR EL TAZERMHERT] 30 0 0 0 1 22 7
&k tEok G T LA 22 AR 14 0 0 0 3 7 4
53 TR BT P ge A T 2R 22 AR 8 0 0 0 2 0 6
EVEIRERER 1514 12 0 677 261 418 146
R 2, 119 0 0 56 26 27 10
EVRRIR AR TIEE 2 117 0 0 49 34 29 5
BEELEA 109 1 0 58 22 20 8
MBI SR 2 161 6 0 84 30 34 7
YRR TR 2 100 0 0 61 4 26 9
PRSI RES 2, 94 0 0 33 11 44 6
R A 173 0 0 73 22 64 14




19 : 10724 E FERIREEAFFESRF HE (=)

= fr B H

\ = ordy _ A=
I 5T 51 L el B P i oL | e
SR | A é G

PRIE
BB 2 149 0 0 96 10 26 17
LV EE R R EE A 80 2 0 47 2 21 8
LY EFERE TIEE 2 140 1 0 57 36 27 19
FLEREE 21 47 1 0 29 11 3 3
TEYR B e P EE & 71 0 0 30 24 13 4
BB HE AT 46 1 0 0 9 23 13
EVRHS ST AT 47 0 0 0 8 16 23
W PR BB B ST P 29 0 0 0 1 28 0
o TR A VR ST P 16 0 0 0 2 14 0
THY 2 hE - B2 B2 AR 16 0 0 4 9 3 0
EIERRE 472 1 0 173 110, 154 34
TREHE 2 57 0 0 37 18 2 0
it A 70 0 0 39 18 5 8
MR 21 78 0 0 34 21 15 8
KAEER 2 93 0 0 31 28 24 10
HEHE 2 56 1 0 32 8 12 3
PHERLIE AT 41 0 0 0 15 21 5
= IS TR - B (EMBA) 44 0 0 0 0 44 0
B PEEHELEIE 15 0 0 0 2 13 0
= K-1§ H EMBA 11 0 0 0 0 11 0
Bl R3S HAE IR T 7 0 0 0 0 7 0
NIRRT 301 1 0 48 95 131 26
N A 81 1 0 48 32 0 0
BkEREER UL T S AR 9EFT| 36 0 0 0 22 11 3
IR AR 17 0 0 0 3 11 3
NI AT R 27 0 0 0 9 18 0
(RS BUER B E TR B 9T P 53 0 0 0 5 39 9
ST ETA S T 5ERT| 50 0 0 0 16 23 11
(T BB IE R ITAT 22 0 0 0 3 19 0
BinZ e RS AT 15 0 0 0 5 10 0
EMENER 1046 7 0 281 246 274 238




19 : 107524 FRIHR B L AR HB (|P0)

- = M F H
SEN aat | B| 50| B o | L |
B HERER | L ip e | PER | i
H | EDIEE | LT ) B

ERE

B TIEE 2 340 3 0 192 83 34 28
Eall TIRE A 203 2 0 86 33 49 33
Y TR SR Py 104 0 0 0 22 31 51
EE TSR 105 1 0 0 26 46 32
B T2 111 0 0 0 24 47 40
Eal s 2 RS I ST T 79 0 0 0 25 36 18
A BB T E S R ST R 83 1 0 3 33 23 23
BRI R 14 0 0 0 0 8 6
YA R BT A B 77 0 0 0 0 0 7

e 289 1 0 134 41 112

AR 2 258 1 0 134 37 85

RIERE o AR ERRAZE FT 31 0 0 0 4 27
AR RE 554/ 7 0 108 170, 156 113
A fRlEd 2y 148 5 0 61 55 25 2
EXIWEEF =T 128 2 0 46 34 33 13
YRR SE P 30 0 0 0 4 17 9
5y F EAARRE A VIR ST P 47 0 0 0 15 23 9
A RRELE B A YRR SR P 4 0 0 0 18 16 10
SZERI LT T 21 0 0 0 13 6 2
EACRIEERT 68 0 0 0 14 23 31
FEDRIBRE 240 E W ER (i B2 59| 0 0 1 17 13 28
PESHI AR R B B P g A T B 2R 9 0 0 0 0 0 9
BIEBUERE 8 1 0 4 2 0
=0 PAN-T 51 8 1 0 1 4 2 0
BoEE 751 15 0 322 277 124 13
HEERREEE 51| 0 0 1 50 0 0
IR R SRR AR 22 0 0 12 10 0 0
s 2B RIS 2R AR 9 0 0 3 1 3 2
KEE R 19 0 0 14 2 0




19 10724 E FERIR BRI HE (80)

- = M F H
ol _ A=
AT wt | | U0 s ik oL |
H BAE | HIEE | TSN | i
AT
BRI 9 0 0 1 7 1 0
REEEER 41 0 0 14 17 8 2
BonRHEAE 17 0 0 6 10 1 0
HIFE TR 9 0 0 1 8 0 0
TSR ER 10 0 0 0 9 1 0
EREEAE 17 0 0 15 0 2 0
IR A YrE AR 15 0 0 10 3 2 0
TARRH AR 30 1 0 7 14 8 0
=B 30 0 0 16 7 6 1
= TR 33 0 0 13 5 13 2
EVEET R 32 0 0 13 12 5 2
HHER A FERT T A 8 0 0 3 5 0 0
BTN BB RIS T EE AR 58 0 0 46 11 1 0
RS 13 0 0 0 8 5 0
HRATAR B F A BE R B 21 0 0 7 9 3 2
FHEE AR W AT IR B2 2R AR 85 0 0 31 13 40 1
YN -2 10 0 0 7 3 0 0
HhEZEER R 12 0 0 4 8 0 0
N RIAIEEERE 4 1 0 1 2 0 0
B 3 1 0 1 1 0 0
BB AIZEERE 17 10 0 4 3 0 0
SN ElTERAE 15 0 0 9 4 2 0
st EAE 14 0 0 13 1 0 0
B2 16 0 0 9 4 3 0
HEMBEE 3 0 0 0 3 0 0
HRLFEE AR 24 0 0 15 9 0 0
REIRRHYZEAE 15 0 0 6 9 0 0
RIEEEEE 8 0 0 4 4 0 0
ACIEFE 18 0 0 4 7 6 1
=N e 10 2 0 6 1 1 0




19 : 107524 FRIHR B A AR HB (87N)

H O B

e e | EEE | H:IE BSERT
N @it g | pe | B | R %ﬁ B
AL | EREE | T S

AT
P EALA G SRR iy R 29 0 0 15 10 4 0
o sy EERE 13 0 0 4 3 6 0
FREIR R e 3 0 0 0 1 0
YR EEE ST R 8 0 0 7 0 0
BE= 202 0 0 202 0 0 0
KEZEEH0s 12 0 0 12 0 0 0
FEBFHL 08| 48 0 17 9 21 3
i e G =R 46 29 0 17 0 0 0
HEZHLH 18 18 0 0 0 0 0
GiEtrE AR 21 1 0 0 9 8 3
S A L e O P iy B 13 0 0 0 0 13 0
BESEL 35 21 0 0 0 14 0
Al T2t 100 10 0 0 0 0 0

st - L2 iR B & IEERE fOERERE MG B ST AR R ZEREN -

2. IR AR S 4,419 BHH -

AR FEWMEFERISC ~ MBI -
4EFHHAHHEE > SERCAERILIA FER HETERHREYET -
5.[F —HEMGR Z BFRE R b~ TR A—F] -
6.RBEERIZE() ~ (5) ~ (R)EINASRATZEREN -

7.3 Z Pt a] e Ty S Ry i AR -

8.[FA—RMEE N A EIBE R EE > Rl BRI A FEZ B g -



